
CHAPTER 12 
 
 
Ques.1 Write the correct answer 
 ÃÖÆüß ˆ¢Ö¸ü ¤üß×•Ö‹… 
 
 
 
A.  3 + 4 + 5 =_______ 
 
 
 
B. 4 + 2 + 3 + 0 + 1 =______ 
 
 
 
 
 
          
             2 
  (i) ? 
C.             5 
         (ii) 
              7 
    9      3 6      7      ?   
 
              9 
   0 
               ? 
  (iii) ? 
 
 
 
 
 
 
 
 



Ques.2 Complete the table 
 ²ÖÖŒÃÖ �úÖê ¯Öæ̧ üÖ �ú¸üÖê… 
 
  

       -    15  24     18 
 
5 

 
 15 -  5 =10 
 

  

 
7 
 

 
 

 
24 – 7 = 17 
 

 

 
12 

   
18 – 12 = 
6 
 

 
 
 
Ques.3 Picture subtraction 
 ²ÖÖŒÃÖ �úÖê ¯Öã̧ üÖ  �ú¸üÖê…  
 
         1 ball = 10 unit 
 
 
A) 
    -   =   
 
 
  70  - 30  =  40 
 
 
 
         1 flower = 10 unit  
 
 
 
 
B)    -   = _____________ 
 
 
 
 



 
 
 
 
 
 
 
 
C)    -   = ____________ 
 
 
 
 
 
 
 
D)           -     = __________  
 
 
 
 
 
 
 
 
 
 
 



ANSWERS 
 
 

a) 16 
b) 6 
c) 19 
d) 16 

 
Worksheet-I 
 

a) 12 
b) 10 
c)  

I. 10  
II. 13  

III. 6 
 

d) 23 
Puzzle 

 
 
 

2 7 6 
9 5 1 
4 3 8 

 
 
 Solution of worksheet II 
 

 

10 19 13 
8 17 11 
3 12 6 

Worksheet-III 
A. 15 Units. 
B. 70 Units. 
C. 35 Units. 

 
 

 
 
 
 
 


